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Eppasuiickasi JIMHIBHCTHUYCCKAS OJTHMITHA/ 12
3akmoYHTeabHbIA TYP 2024-2025
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BAPUAHT Ne 1
In meny parts of the world there is not éinouo\h-i-’ood
for et/efbfawe Unfortunadtely, +his is one of the most popular
alobal Droé/ems m?&wwqus _QH' has a spec/a/ name: the
,oro@/em of North - South. T+ means +hat one coundr ry
cand not solve Hhis prog/em self. Al the couniries %eom
each_pard of the world should find he solutions and
work Zogether
As Sor my atfitude 1o this pm@/em T should say
thoet i+ first aopearec{ ot the 6eqmnmq of the industria)
RVO/ution, when machines and manufictures man 4o
appeas 0\ over the world_Cowszdries with momw progres -
Sive_economies were the Jeaders in this Sield, Tn that
bone the difference Bedween cowritries Beqarz 40 grow.
NOwadaqs it Became yery lusge, Because some C&’Mﬂz‘f/es
Sor examo)e 0 P(J?naa cOuLfE)i nO% come wp with the rdea
how 1o shorten & such o diflerence Pu whq 2 these
couniries did not work in the same way Hep 2 The
answer is clear. Not all the cowntries /mge the same
fesources. Moweover, today Hhis Sact /s e answer to
the C?Hr?sf;ﬁfz th i man}\] pacts of +he world thece is not
ehOl,Lqu food for QVWOne £
(/f;D +t0 mq mind \ﬁus problem has different solutrons
Bt Siest, o\ coundries showld work togedrtr. More odvanred
moy \ext SOme mone_uéj less_advanced Tind Bun, producis Y
%—_g@ Second\ly mo(@_ Oroqressive coutlies mf(ﬁrf h€|p
less odvanced with mach:nesuwhnch will malee pr@dmfs
poce GT“‘G“\C‘j and effective




Espasuiickasn JHHIBUCTHYECKAS OJTUMITHA/IA
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TBOPUYECKOE 3AJJAHME (uer 2)

BAPHAHT Ne
% La congfusion, T would like %o&:m thod working
{Oqe%he( s he/ps%o solue"‘?\/eﬂé} oroBlem™
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Espa3suiickasi THHIBUCTHYECKAS 0JIHMITHA/A
3akinounTeabHbli TYP 2024-2025
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1 The humidity throuahout the long dou hod Been exhaustina and
not euen the ait eOnd; ﬁ%ﬂ'\ﬂ% coud eope Ezat'\w(‘e\\ﬁ with 4he damp heat.

2. 2\;‘%, “(a% Just norucally averge ; ¢
Ost wo 4 i i t
16 R’:{Q‘e- n 6@.@!‘ meL lt;\QH' Ilgu\lfg}f‘ a'g\re\z?}ﬂ% < S:{)r mgew &_
3 Rebecea swam strongly out +o where the woter deepe%\{
a wni %

10 dappled afeen and
her hS?r spread like se-H&L&fh ¥ gréo&ondh@{aém Looded for

1) Rebeccar had Been Adele*s nucse sinCe Adele woas 58 venrs od.
fdele was 58 4eoss,wen she first came 4o [ive on +hé island.
aﬁﬂdele, aever wsed the Beach Rebecca hod come +0 oerd it as

17 1% Fl%f\ré' wos officted with heoct complasnt and congenital
wenkness
§) Redecca gogeed to become fidele’s nuse Berause She wanted

to escape Stom an wNoRPy gikuartion.
nex

4) sonall wind Scom the ge0

18 | 2) Pe\0ng Ao her treek Since Bich,
2)t0 noY howe s—\:cer\g—H]

L;E@'e\omg) st 4o “one person onl

5) Be teody +o solve the froblems during +the day
4} tite d

R)twde
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Title: ReBecca’s tura i e .
This tex+ is aBout ReBecca,who WOS ready to Become a
nuse 4 ontu Because she wanted 10 hel m\,%?man ro
20 | escope. fcom adifficult situation ReBecca heore e";gf’%u

10 Yravel 50 Sar alone. But hex degire wows masn'-F

SHre
SO, She went 4o Adele 4o dhe icland. onﬁ >




